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Set Name: |Item25
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Exam Shift: | 1

Langauge: |Punjabi

Topic: Mathematics-Section A
Item No: 1

Question ID: 100201

Question Type: | MCQ

H&e &8 R AHT {1,2,3,..., 60} 3 nuE »ry QU9 A9T I 37 A

Question: R={(a b):b=pq, G| p. q = 3 M3TA I}
3¢ R 3o 337 <t fosst T

A: 600

B: 660

C: 540

D: 720

Topic: Mathematics-Section A

Item No: 2

Question ID: 100202

Question Type: | MCQ

Question: | Forg z=2+3i T 3¢ 2° + (Z)° FIET U
A: 244

B: 224

C: 245

D: 265

Topic: Mathematics-Section A
Iltem No: 3

Question

D- 100203

Question

Type: MCQ




H5 %8 A w3 B<E 3x3 39 fAeg em3fex Hezfoan g5 3t 7 AB fAgg Azfagm

Question:
uestion S g
A: It AHfaast 8 ys&st AX = 0 Yzt o feduz 9% 1
B: Jut AHfaas! & yoi@t AX = 0 Y@l © niEtfH3 a2t 3% I8 |
C: B f&x B®csrt® Hefaar T
D: adj(A) fEx B®ezrl® Hefaar J|
Topic: Mathematics-Section A
Item No: 4
Question
D: 100204
Question
Type: MCQ
1 1 1 oo 1 _ 1’§€ g
Question: (20 — a)(40 —a) (40 —a)(60 —a) (180 —a)(200 —a) 256
wftaan H® J
A 198
B: 202
C: 29.2
D: 218
Topic: Mathematics-Section A
Item No: 5
Question
D: 100205
Question
Type: MCQ
i, =X H
| eE 1im 28 Hhe © s =3, fi®@ o, B, v € R, 3¢ feg® &5 fagzr
Question: Ziag % SR 3 )
At s T 2
A: a2 +B2+y2=6
B: o +By+vya+1=0




C: a[32+[312+'ya2+3=0
Topic: Mathematics-Section A
Iltem No: 6
Question ID: 100206
Question Type: | MCQ
. % 1
Question: o e j' : v g9 3
5 3 + 2 sinx + cosx
A: tan—1(2)
™
B: tan 1(2) — =
4

1 _ T
c: —tan"1(2) - =

2 3
D: l

2
Topic: Mathematics-Section A
Item No: 7
Question
D- 100207
Question
Type: MCQ

o FaEes = y(x) Mo (1+e2r)[dl +y) _ 1 & 95 o9 e [o, g) 3 Bt
Question: dx
3T lim e'y(x) S99 T

X =00

A: E
4

B: 3w




C: E
2
D: 3_11.
2
Topic: Mathematics-Section A
Item No: 8
Question
D 100208
Question
Type: MCQ
0 = =~ - = 4 - - o - -
H& %8 ur L, 9u<i bx+10y—8 =073 2x—3y=0, be R - {5} T o 9 Bwet T | Fo9
Question: 2 2
L fife (1, 1) &8 But I v T59 17(x2+12) =16 § AUTA et I, Ie festur = i—z =1
Tt WHHIETST I
2
A: e
J5
B: E
5
1
C: _—
J5
D: 3
5
Topic: Mathematics-Section A
Iltem No: 9
Question
D: 100209
Question MCQ

Type:




Fo@ T A(-1,4,3) 3 95 P: 2r+my+nz=4; Qg i 35 = 9 [_2, 7 E) 33
Question: ) 2
f g g 3
A3 35 P&, u fare femm wgus 3, —1, —4 98 ¥ AHST HU &, €41 J ¢
A: 1
B: /26
C: 2.2
D: 14
Topic: Mathematics-Section A
Iltem No: 10
Question
ID: 100210
Question
Type: MCQ
- — A A g A A A “ - = - = — =3
Ho®@ a=3i+j M3 b=i+2j+k I H5oBB AT ¢, ax(bx )=b+}u: ]
Question:
) = g = - : - b
ASHZ 9T J | fiI6d b M3 ¢ WAHET I8 3€ \ T HS J:
A: -5
B: 5
C: 1
D: -1
Topic: Mathematics-Section A
Item No: 11
Question
D: 100211
Question
Type: MCQ
TR o Goc et AT fom s a 7, n3 fEa e BA 3 9 feadt g9 3 fig
1 . - ] it —_ 3 - Lal - - )
Question: A?L@{ﬁweﬁ?cosl[ﬁ}%|F|aaf‘a§Bm315f‘eaTélwgé}33,3?com

g3'gd I |




A: E
5
B: 2
5
C: E
3
D: z
3
Topic: Mathematics-Section A
Iltem No: 12
Question ID: 100212
Question Type: | MCQ
Question: J8E (pAq) = (p A1) AHGIER J !
A: q=(pAr)
B: p=>(pAar)
C: PArD)=(PArQ)
D: pArq) =1
Topic: Mathematics-Section A
Iltem No: 13
Question
D- 100213
Question
Type: MCQ

Question: H& &8 A(a, 3), B(b, 5) »Z C(a, b), ab > 0 st =&t 3w & ufgaed P(1, 1) J1 75T U7 AP,
eSO 3w BC § fig Q(ky, k) 3 et T FE k+k, 99T T

A: 2

=
7




C: g

7
D: 4
Topic: Mathematics-Section A
Item No: 14
Question
D: 100214
Question
Type: MCQ

M

15 %8 a w3 b T T A o T I5, et feeag & T F | Fa9 Saedt 245
Question: 4

w3 (; s +2(; % ﬁ)) fegarag oF 0 J 3¢ 164 cos20 ¥ H® I98d I
A 90 + 272
B: 45 + 1842
c: 90 + 32
D: 54 + 902
Topic: Mathematics-Section A
Item No: 15
Question ID: 100215
Question Type: | MCQ

< logiot
Question: AT f(a) = f f& dt, a >0, 32 f(e®)+f(e3) ¥IHT T :
+ t
1
A: 0
B: 2
2
9
C: _—
log. (10)




9

D:

2 log. (10)
Topic: Mathematics-Section A
Item No: 16
Question ID: 100216

Question Type: | MCQ

A: E S]_'ﬂ_l [2) i l
2 5 2
B: 5_11- — E
4 2
C: 3_11- + E
4 2
D: 5_1T — 1
4 2
Topic: Mathematics-Section A
Iltem No: 17
Question
D: 100217
Question
Type: MCQ
He @ L:y=mx+c, m>0 3 e J UTe® P:y?=4x & 7 fa U9y § fGow M »3 N
Question: | SUT et T | Ho &8 Tur L, gEhuSess H:x2—1?=4 3 & AR 9v J | Ha9 O fmm 3
UTEs™ P & w3 F oA J oonigesT H @, 7 x-T9 © UaSH UH I 3¢ 93999 OMFN &
H3Je® §I89 I
A 26
B: 214
C: 1.J6
D: 4./14




Topic:

Mathematics-Section A

Item No: 18
Question
D- 100218
Question
Type: MCQ
Question: fast fien 8UT %5 f(x)=|x—1|cos|x—2| sin|x— 1|+ (x—3)[x>—5x+4|, f: R - R
| fseortTes off 9, & fo=st O
A: 1
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 19
Question ID: | 100219
Question
Type: MCQ
Question: He %8 S={1, 2, 3, ..., 2022) J1 3% AHT S T S3gdtdt & gfewr dfew n 7 HCF
(n, 2022)=1 3, <t Ag=ar J:
A 128
1011
B: 166
1011
c. 127
337
N 112
337
Topic: Mathematics-Section A
Iltem No: 20
Question ID: 100220

Question Type: | MCQ




W5 B9 @85 f(x)=30""2°+4 y ¢ R 3 |
3T feost <o faozr ATt 972
P:x=0, f & AEad f58&3H fig

Question:
Q:x=42, fEegug fig g
R:fTufaord x>2 &
A: g P mz Q
B: oe® P i3 R
C: o Q3 R
D: P,QwS3 RAY
Topic: Mathematics-Section B
Item No: 21
QL{estion 100221
ID:
?ues.tion Numeric Answer
ype:
, Hs ®8 S=1{0 ¢ (0, 27) : 7 cos20—3 sin20—2 cos220=2} T |3¥ AHIFI

Question: 2 5 B ; 4

x2—2 (tan?0 + cot?0)x +6 sin’0=0,0 e ST HIHS T+aA3 T |
Topic: Mathematics-Section B
Item No: 22
Ql.festion 100222
ID:
?ues.tion Numeric Answer

ype:

H& B8 20 HEf x|, X, . . ., Xp & HOHE M3 YATE JHET 15 M3 9 I | a e R &1, (v, +a)?
Question: | (x,+a)?, .. ., (xy+a)® T HOHG 178 I | 3T a ¥ »ifUdsSH HS & <991 8989

il
Topic: Mathematics-Section B
Item No: 23
Qgestion 100223
ID:
Question

Type:

Numeric Answer




H5 & a, b e R &t fom wigU™3 a, —4a, —7 T 9y, € Juret fAgst & femr niguz 3, —1, 2b

. - N0 -, -, X + 1 - 2 Z -
Question: | w3 b,a, —2T5, § BF J | {HAT JoT ——— = g 5 ==
N a- +b a- —b 1
IBx—y+z=0 T T2 B (o, B, ) I 3 a+P+y T HS TI=9 T |
Topic: Mathematics-Section B
Item No: 24
Qgesﬁon 100224
ID:
?ues.tion Numeric Answer
ype:
- a
. H5 38 a,, a, a, vioaifEsa B3t 98 I5| Aad Yy, L =4 J 3¢ 4a, T UG 95
Question: 1 & ot
afl
Topic: Mathematics-Section B
Item No: 25
Qgesﬁon 100225
ID:
Question .
Type: Numeric Answer
1 b E g 0 1 n L . 0 5 i ‘—v:
— T 2ot w3t &9, W5 B8 uRg %5+4— g wig 3 Unst ue »i3 fug 3
B 3
Question:
ﬁﬂéf%?h@m%ﬂ%lﬁaﬁﬂ@?éﬁw%iéﬁuw ol
Topic: Mathematics-Section B
Item No: 26
Qgesﬁon 100226
ID:
?ues.tion Numeric Answer
ype:
Question: | 3%3 FH 28 Hefgan® & fae3t, fame A9 I3 71 0 7 1 Is w3
C | HTS I3 @ A48 wgwa Higwm F, S
Topic: Mathematics-Section B

Iltem No:

27




Question

D- 100227
Question .
Type: Numeric Answer
HE B8 p »3 p +2 nE@ws Aftnret 98 w3 Hs 38
pt (+ D! (pt+2)
Question: A=|p+ D! p+2)! P+ 3)!
p+2)! (p+3)! (p+ 4)
3T o W3 B it niftoeH HET, AT p* S (p+2)F T A § 8T Ts,E AT
afl
Topic: Mathematics-Section B
Item No: 28
Question
D 100228
1Q_ue§tion Numeric Answer
ype:
1 1 1 1 k
, Add + + +...+ = , 3 34 k
Question: 2X3x4 3xXx4XxXx5 4xXx5%x6 100 x 101 x 102 101
et A J
Topic: Mathematics-Section B
Item No: 29
Question ID: | 100229
Question .
Type: Numeric Answer
. H& B89 S={4, 6, 9} W3 T={9, 10, 11, .., 1000} J1 +&F A=fa;+a,+..+a :keN,
Question: = - < . -
a,,ay, as, ..., 4y € S}, I HHJ T—A € H'J 337 &' 17 gd5g Ji
Topic: Mathematics-Section B
Item No: 30
Question
D- 100230
?ues.tion Numeric Answer
ype:
H& %8 989 ¢ : 22+ y?—2x—6y+a=0 € Jut y=x+1 BUT wIus ystfda c,:
Question: | 5x2+5y% +10gx + 10fy +38=0 I | AT T&J c, & »IT fenA r T I€ a+6r® F989

J |




Topic:

Physics-Section A

Item No: 31
Questi
Do | 100231
Questi
T;pees:lon MCQ
feg a8s (A) | 395 T 39A T 3%E © AHT O fARer Af3T 3ae () ferer wEsT (p) i3 wigg
form (1) 3 fags9 ager I 37
[ .
Question: =5 PI/S% ﬁ?ﬂt@ﬁlﬁﬁa%
K feu sfos 3
gz (R) foft ferems T 293" a9 U™ T J & AY UTH Shft fedt aqt 3 © S9TE9 &t
T
A 96 (A) »2 (R) AJt 75 m3 (R),(A) = At fenrfimdt T
B: 6 (A) 3 (R) Adt 96 U (R),(A) & AT fenrfimit &t T
c: (A) At T U9 (R) At & T |
D: (A) ATt 50t T U9 (R) AT T |
Topic: Physics-Section A
Item No: 32
Questi
Dot | 100232
Questi
T;pees:lon MCQ
dre § 7e fox utH a8t &% 8Ug Hfenr Aier I 37 oo h € Boret 3 udoe 3.0 Goet 3 Qg AE nE
Question: - 3
B »E & AfHmf & o »gUTs J<ar |
A: JE — 1
J2 +1
5 V3 =42

J3 + 42




c V3 —1
V3 +1
D: l
3
Topic: Physics-Section A
Item No: 33
Question ID: 100233

Question Type: | MCQ

; dx
Question: dag t=+x+43,3 [El LTS
A: 4
B: Hé
C: o
D: 16
Topic: Physics-Section A
Iltem No: 34
Question | 490234
Question
Type: MCQ
e 9a13 IfT= diwarg U3 @ f¥a HeTeH y3emf grdeedt J (fae fisg e sufenr ) muma o fox
e ‘v’ T FF IIeTI € IB 5% TBET J Jo° o3 JEhT syt feg fagsr argeerat anmar
giea T Batt a3 yItant (N) »=3 Jex &t a5t (v) T €56 § TIAg et J|
Question:
N
A:
v




B:
1
N
C:
v
N
D:
v
Topic: Physics-Section A
Item No: 35
QL.Jestion 100235
ID:
Question
Type: MCQ
Question E aifsq 8o =t ¥ di & ufsy &% o7 60° T aF gawe 9T yufuzs oz fomr 3 | fem are &t afsw
u I - = = fa = fa s B
G feret B3% T Gafan i 3 & J<att |
A: fAeg
B: E
2
C: E
4
D: E
Topic: Physics-Section A




Iltem No: 36
Question
D: 100236
Question
Type: MCQ
= = = . n A A~ A AA
Quest 1kg n3 3 kg UA I8t THINT € AEGK AfCA gHET i +2j + k M3 —3i —2j + k I | fem
uestion:
feerar ¥ U7 d'ed © AE&A Afer o 39T 83 98 fao3 rfer & g9gg Jodr|
s e
A i +2§ +k
43 e
B: -3i —2j+k
_ A A
c —-2i +2k
e iy
D: —2i — j +2k
Topic: Physics-Section A
Item No: 37
Question ID: | 100237
Question
Type: MCQ
Jot € qus i3 75 81 3 fos a8s (A) 5% vifaz &3 famr I »i3 g9 3 &9 (R) &% |
Question: fez aus (A) © 3% A IGA T T 9% U3t § UE 51% Ae &t S ST 7T AdeT |
a3z (R) : feE8fa 3% 7 a5 »i3 UEt fegara Auad & 90° T 287 g7 J|
A 5 (A) »3 (R) AT T5 »3 (R),(A) & At fenrfont T
B: 5 (A) »i3 (R) Adt 36 UT (R), (A) & At fenrfimi &gt T
c: (A) At T UT (R) I3 T |
D: (A) T®3 J UJ (R) AT T |
Topic: Physics-Section A
Item No: 38
Question
D: 100238




Question
Type: MCQ
Question: ufgdintt StH3T 578 1 379 € SaEt § gaeT w3 »idy fenfr § wior oS A< 3T yeTa" € Uat € JE
foer J=ar|
A: 8t guar |
B: Ufowt &% 8 gIET T Ar<dr |
C. ® ) 1 - d =,
: ufost &% 7 T e F=ar |
D: Uufost &% 4 d& T A<dr |
Topic: Physics-Section A
Item No: 39
Question
D 100239
Question
Type: MCQ
Question: T5 & 23 3 & L St T 9% USHH Seartent famr I feg 108 o dF T8 TS 9918 3faz AHSS
| 3 B9 T or foTr T UgeH T 3% AHF 3% o Jear |
A 2m,JL/ (g cosx)
B: 2m,/L/ (g sina)
C: 2w JL/g
D: 2m,/L/ (g tana)
Topic: Physics-Section A
Item No: 40
Question ID: | 100240
Question MCQ

Type:




fex 3% g fea s IoF ©F €5 § geser god wesT Hafad effmr famr T |
3 T —.
———|Fr=sR
o(t) = pﬂ[4 R] '
fAeg e r>R
Question: | A8 r(r < R) Ie9 3 gt (fre’ fuzg feu feufenr ¥ ) P 3 fomeht 839 filst J=ar |
T [3 r]
A: e
4eo (4 R
B T [E _ LJ
3gg \4 R
. T [1_1}
480 R
N nr [1_1)
5Eﬂ R
Topic: Physics-Section A
Item No: 41
Question ID: 100241
Question Type: | MCQ
J5t © oEs o3 75|
Question: FEs [ . foAsel Uehs 99 U3 ¥ nigg »iz Af3g §u3 AfEg der 91
s Il : forft 3o oo o3 © Au I o e 3 83 g v |
A 6 386 1 w3 85 11 AT 75 |




B: 2% 86 I ni3 86 11 I%3 T5 |
C: 85 I At T U9 985 11 33 J |
D: 85 [ dI%3 JUT 985 I AT 3 |
Topic: Physics-Section A
Item No: 42
Question
D: 100242
Question
Type: MCQ
Question: fea mms AT it € 3 & 3t S wStET Afar famr 31 7 oy W3 0, fETE 3T T THEET
| gHeT IF 3t Byas feeREr @ yurfEs owasT ot d=dt |
o1 O
A: —1 2
0'1 + Cl'z
2010
B: —Ul 2
[}'1 -+ [1'2
oq +
C: —1 2
20’1 G'2
oq +
D: —1 2
0102
Topic: Physics-Section A
Iltem No: 43
Question
ID: 100243
Question
Type: MCQ
. %aqé]eaa?en&E=4405m10%tS£Heﬂﬁimaeﬁ%mazﬁg warfen famr § | 7 fer
Question: S o
A S8 a.c. niftes sarfent w3t ferRet & Ugs Jedtt|
A 44 A
B: 155 A




C: 2R
D: 3.11 A
Topic: Physics-Section A
Item No: 44
Question
D 100244
Question
Type: MCQ
1 H Y33 T I53T i3 100 Q T8 YU § 6 V & dedt a8 At Aer 7 37 U &9 fal
Question: | @ AfZUS nieAET T8 oue 3 s 2o &g ade wior J ar<ar |
| (b) T Aae § 9eT I g 3 dsat Y 83us dfonr duet B39 15 ms T &S G mat
agar | fosT T In2=0.693 i3 e 3/2=0.25)
A t=10ms; U = 2 m]
B: t=10ms; U = 1 m]
C: t=7ms; U =1m]
D: t=7ms; U =2m]
Topic: Physics-Section A
Iltem No: 45
Question ID: 100245

Question Type: | MCQ

Aot - I & gt - 11 &% fhese &g |

get - 1 get - 11
Sussiion (a) UV fagst (i) HSAs &9 fanst & U3 a9sr
| (b) X-fagst (i) Ut o AeEsT

() HE 3dar (i) FAYT III

(d) wifgR 3Jar (iv) de ¥ fest 29 foret & Aug J9o
A: (a)-(iii), (b)-(i), (c)-(1), (d)-(iv)
B: (a)-(id), (b)-(3), (c)-(iid), (d)-(iv)
C: (a)-(i), (b)-(iv), (c)-(iii), (d)-(i)




D (@)~(i), (b)-(), (c)-(ii), (d)-(v)

Topic: Physics-Section A
Iltem No: 46
Question | 490246
Question
Type: MCQ
Quest 7 0TS yoH T 3991 et A 9= mis fe&dce ©f aifsa €9 E 9% 3t niuts Yo o A8t 3da
uestion: - _— ‘ ” 0 =
&aret 9< 3t aif3w @9 2E I AR |
A _ he
EN — he
B. hch
EN + he
C: L
EN + he
D: hca
EN — he
Topic: Physics-Section A
Iltem No: 47

Question ID: | 100247

Question
Type: MCQ

St B GaAet T of wigUTs d=ar AT TES9ns YH'E T feddes udeHs 9T I8 |
Question: | (i) ©AY fermst 89w A3 3 ufo® AT s
(i) CU3H ferw=t Gonr AT 3 ufos feamst AsT 8

A: T
B 4.3
C: 1:4
D: 4:1

Topic: Physics-Section A




ltem No: 48

Ql{estion 100248

ID:

Question

Type: MCQ

_ e WM™ HESAE 3941 ©F WfUd=SH »iaH 9V Jer J 3t 8 V & 528 Jer J 3T MTH H3&HE &7

Question: | ., . o . =
H3®RE feasan usr a4 |

A 0.8

B: 0.5

C: 0.2

D: 0.1

Topic: Physics-Section A

Item No: 49

Ql.festion 100249

ID:

Question

Type: MCQ
fex aStHi® FuHeEaHt ¥ He Ao §UT | Adhiies Re 20 ¥ 5 me fa feret T9smia Aaw Enif

Question: | g% 50 ¥3T T& 7 TISMIT A TN 25 UST 24 He A UST ¥ 5989 I 31 fer mumEgrT &t uie uie
U33 ot J<att |

A: 0.001 cm

B: 0.002 mm

C: 0.002 cm

D: 0.005 cm

Topic: Physics-Section A

Item No: 50

Ql.festion 100250

ID:

Question MCQ

Type:




319 € fonmA § HuE e AfI8 are & yuar 137 fam 3 I8 fsdint Udust AToHE nret

i fg s |
Sosst

Question:
(A) g yTr 59 wHE 3 A H6 AG®S 3 0.5 mm fRAEfUs a9 T
(B) dT®ord AU T 50 HF T |
(C) H& Ao & U3z 25 mm J |
(D) &g AA T 45 & U3 ile sEts 5% fiser 31
(E) #e & 0.03mm fgzsHa 332 T
feg 39 T Heret & ot SltH3 J=at |
A: 2.92 mm
B: 2.54 mm
C: 2.98 mm
D: 3.45 mm
Topic: Physics-Section B
Item No: 51
Question
D: 100251
_?;pees:tion Numeric Answer
fEx TAZ § 0 T qF g=TGe IF nEfEx =t u &% o= R Wil &t famr I | Yo & 9% fer 337
Question: | I fx uf3a I7 Rviftiezn T | B 39 @A3 § o= 199 yous T fomr 3 ufsa 9 ufusr && widt 3fa
aet | 22t ot feT »idfsa oSt g9E9 I | TR @A3 YU d= 3 Het et |
Topic: Physics-Section B
Iltem No: 52
Question
D 100252
Question .
Type: Numeric Answer
7 I9sT nigAE = y=a fan fig Un set fysst € Afso h 897¢t 3 66 I o° e fysst S Afsg 3
Question: | SwEt oh 3 (h<<R) 3' a T HG J=ar |

(R,=6400 km T33" )




Topic: Physics-Section B
Item No: 53
Qlfestion 100253
ID:
Ques.tion Numeric Answer
Type:
€ YyHrEnt T TR [*y = Qﬁmwe&@ P »3 wEs d, I d, 7e fend Afie fesddt =& aron 5%
, fesen = a ferer @98 Py(> P)) &9 fozr Aier ¥ 137 wesT d, J|
Question: . y - - - L.
JH BT IUHTE FOET I »iE UfTH SUHS I _ q= T A I
fagry 92 _
( —==32 )
dy
Topic: Physics-Section B
Item No: 54
Question | 100254
Que§tion Numeric Answer
Type:
TAH YH'E TH dIH T BT HE § € YHE T oA © 55 H® &% fHar a3 AT 9 | wiEst 2 fiae
H . = Cf_z ==
Question: | Ggwr fon firas @t Afbg »ifess 3 IR J/mol K 3t o & &t stH3 J<att [
(Assume that the given diatomic gas has no vibrational mode)
Topic: Physics-Section B
Item No: 55
Question ID: 100255

Question Type: | Numeric Answer

Question:

Js €3 Agae f<o A Fde I I&ar|
91} 9() 9 Q)
VWA WA VW

I A




Topic:

Physics-Section B

Item No: 56
Qlfestion 100256
ID:
Ques.tion Numeric Answer
Type:
aHEll H3T T 5 cm ©f &g =% fAAer »idg fas™A 5em T f& #e A e
Question: | BwrfenT AfeT J 3F foRT J29 3 37.68x 1074 T o 99at ¥39 Uer g J |
[ He &< st & faest 100 n3 w=3.14]
Topic: Physics-Section B
Iltem No: 57
Qgestion 100257
ID:
Question .
Type: Numeric Answer
41 w3 9] Stggzge % € YA Ud fFx uge Gus fews fsarfes goe o5 | fost Uar © eF wisds
Question: | yge Bug A fiig 3 fieg g »3 B fig 3 w | A w3 B fienr 3 ynrfes Staas=t =
[ %39 J<ar |
Topic: Physics-Section B
Iltem No: 58
Qgestion 100258
ID:
Question .
Type: Numeric Answer
. 314 AchleT Saet ot 39 & A3 o fox dag g=rfenr famr T for 9 14 A & o9 9% 3
Question: . G e
A-m? T gget HHZ J=ar| [Given m=23.14]
Topic: Physics-Section B
Item No: 59
QL.Jestion 100259
ID:
Question

Type:

Numeric Answer




T urgEgrHt Mt M, i3 M, fegaa X-Y AHEs § 18sdt sarfenr famr 9

M, (Z=0) I 3 fer & nuRass ¥ 2 M3 M, (Z<0) T »u=aSs vid |3 J1 M, 9 yam

Question:
Doz S ARE P =431 —3J3] —5k o TIrle fr 3 w3 i o nrurt meEs 3
s JET 1 M, T v GE »iZ M, T nU=dss o fsadt &r e9x T |
Topic: Physics-Section B
Item No: 60
QL_Jestion 100260
ID:
?ues.tion Numeric Answer
ype:
Question: p-n HSHEG TS USHS 8I9@ 0.6V T J | 6X 100 m < g3t o f3ufsne b3 ffo famset
| ¥=9 & St %105 N/C J=at|
Topic: Chemistry-Section A
Item No: 61
Question
D: 100261
Question
Type: MCQ
Question: | a7 f&3 wignrt T 73 5" Fge 21 fedaest @9 »ig w3 SHRed nis Edags mig qHedt 6 2
B: NO »3 H,S0,
D: BCl, m3 NO
Topic: Chemistry-Section A
Item No: 62
Qgestion 100262
ID:
Question MCQ

Type:




NE(g) +3H2(g) = 2NH3(g)

Question: 20¢g 5g
Suds yStiafonr feerd, yStiafor = AW »ifgaerx »iE 88 NH, ¥ Fer &t foest giew a5
A H,, 1.42 moles
B: I—Iz, 0.71 moles
C: Nz»- 1.42 moles
D: Nz, 0.71 moles
Topic: Chemistry-Section A
Item No: 63
Question
D 100263
Question
Type: MCQ
question: | 100 fétdleg 5% W (FramrEss) NaCl e uet g 250 fHdidies © diaq fee gafent Afer I
" | »watHs 3 NaCl @8 U @8 ud § gaft 397 fomrfenr Afer I1 sarfentt famr U A= 9 ¢

A: o< A&dl F®
B: o< featt A®
C: A% &t feH®RS gset 7
D: A% &t »ieed 93¢ 76
Topic: Chemistry-Section A
Item No: 64
Question
D 100264
Question
Type: MCQ

_ yfawt nifefes wsaeft Na, Mg »3 Si 8F gHTT 496, 737 »3 786 k] mol ~! I&5| ufudst nifefsx
Question:

st (k] mol—1) Al & T

A: 487
B: 768




C: 2TF

D: 856
Topic: Chemistry-Section A
Item No: 65

Question ID: 100265

Question Type: | MCQ

Question: o3 foHaeHs €9 o9 o3 Evr wigtint et AgE Yoier AT AT J

A: & grogie fHet ueragt © nipdladss |

B: J9 U3 A I € U3 3 899 © MEUd9E |

C: yiewt a3 yafafsa gu g Bu ue 7T 5|
D: gt U3 Enff ggall MEU |

Topic: Chemistry-Section A

Item No: 66

Question ID: 100266

Question Type: | MCQ

Question: a7 7SI »esdr a7 YSHafonT a9 Tetgns dn fsawet J w3 :

A Zn(OH),

B: Zn0O

C: [Zn(OH),]~
D: [ZnO,]?~
Topic: Chemistry-Section A
Item No: 67

Question ID: | 100267

Question
Type: MCQ

ot e

Question: | HEMM BTEICE M3 ASMIH T8I § TY T &9 d9H &3 AfeT J 3T gHedt fde 5




A LiNO, »3 NaNO,
B: Li,O »3 Na,0O

C: Li,O »3 NaNO,

D: LiNO, »3 Na,O
Topic: Chemistry-Section A

Item No: 68

Question ID: | 100268

Question

Type: MCQ

Question: SCl,, O,, CIF, 3 SF, 39 aedt UgH'g ud gHedt feamelt ganr <t farsst %
A: 0,1,2m3 2

B: 2,1,2n30

C: 1,2,2nm3 0

D: 2,1,0n3 2

Topic: Chemistry-Section A

Item No: 69

Question ID: 100269

Question Type: | MCQ

Question: Jor &3 Afanft &8 ooz usaHs o3 = nifes Jadts T5 ¢
A SC3+ an +

B: Ti4+, CII2+

C: V2+ Ti3+

D: Zﬂ2+; Mn2+

Topic: Chemistry-Section A

Iltem No: 70




Question 1 100270

Question

Type: MCQ

Question: fsats 7 837 w9 WdnH KMnO, fea 3a3e@ namlaea I 7 fa gEt8rsee § ua Aftma
| »iIHeE S Aeee féer I | fer yStfafonr 8 Hodta & niaHlaes nieRET 3® Se%e 92T

A: 5

B: 1

C 0

D: 3

Topic: Chemistry-Section A

Iltem No: 71

Question ID: 100271

Question Type: | MCQ

Question: Jor fo3 Afsnr <9 fags fAge gogtAes T 2

A: WHEIS M3 3 niwsfas

B: ASthiH a@de wiz nw3fas

C: AStiH nirartae

D: ASHH I®de w3 ASTH niTgATae

Topic: Chemistry-Section A

Iltem No: 72

Question ID: 100272

Question Type: | MCQ

Question: faazT I &3 @9 A8 Ie=8ed g9 6Hes Ug J ?




H;C
%
CH,
I
B: N:
N
CH, H
S
CH,
CH,
|
N
C: (\ . ;
N
D:
Topic: Chemistry-Section A
Item No: 73
Question ID: | 100273
Question
Type: MCQ
uestion:
(Consider the double bonds in the structures are rigid and not delocalized.)
A

CH; CH,
é\ @
CH, CH;,




CH;,

CH;
CH;

CHj
CH, CH,
CH, CH,
C:
«“—>r

CHj, CH;

D:
<«

Topic: Chemistry-Section A
Item No: 74
Question ID: | 100274
Question
T;pe: | MCQ

A B

A AgCN NaCN L2

| (s BuT) < ~Ng > (i 8

Question: C,H;OH -H,0 C,H;OH - H,0

Buaas yStfafanm=t @5 Gfee ‘A’ »3 Gfos ‘B’ =g I5:

A /\ﬁ © /\%_e

C C
B: /\C N, /\CEN




. @ ©
C: N N=¢& 7N C=N
. ® ©
D: TS C=N, AN N=¢C
Topic: Chemistry-Section A
Item No: 75
Question ID: 100275
Question Type: | MCQ
OH
Bl'z A NHon P205
Question: " g A g
CHO
Buaas yStfafanret & &3t ffg G ‘C' 9 :
Br Br
A:
CN
OH
Br Br
B:




Br Br
C:
CHO
OH
Br Br
D:
CN
Topic: Chemistry-Section A
Item No: 76
Question ID: | 100276
Questi
S ;pees: ion MCQ
CH,4
Cl
PV, NHS BI'Z
Question: A" (CsH¢CL0) > CgHgCINO NaOH )
H,N
Buaas yStfafanr feorg for ffo afoe ‘A’ T -
O
A: |
Cl CHs




O
Cl
B: G |
H,C
O
cl
C:
Cl
CH,
O
H
D:
Cl
CH,CI
Topic: Chemistry-Section A
Iltem No: 77
Question ID: 100277

Question Type:

MCQ

Question:

e
L
»
k=

=NCI-
[::::]’f ,n _NaOH

&3 &9 fagz ‘A’ § s9AGer U ?

(ASIt-%% 378T)




OH

A:

OH
B:

NH,

C:

NH,
D:
Topic: Chemistry-Section A
Item No: 78
Question ID: 100278
Question Type: | MCQ




NH,
i) AlH (i-Bu CH,CHO

Question: ( ) ( )2 » ‘A’ 3 » B

CN

Bua ‘B’ T :
A: OHC—Q N=CH-CHj,
B: H@J—@ CH=CH-CHO
c: HEN—©7CHQ—N=CH—CH3
W

D: HZNO— C—N=CH CHO
Topic: Chemistry-Section A
Item No: 79
Question ID: 100279
Question Type: | MCQ
Question: Jor o3 dfaat f£9° a3 AHox e<vet <t Berads I ?
A TS
B: YHTETCS




c: PAUTISH
D: ugrse e
Topic: Chemistry-Section A
Item No: 80
Question | 149980
ID:
Question
Type: MCQ
Question: Gfar ‘X’ 3Ad »i3 NaOH f8 wseH® I ud NaHCO, {8 niz gseHis I dfda ‘X’ fsauy FeCly
T uw &9 Saet Jar st fder O | Gfod ‘X T
OH
A: @
OH
B: ©
CHZOH
C: ©
CHZOH
D:

-




Topic:

Chemistry-Section B

Item No: 81
Question
D: 100281
1Q_ue§tion Numeric Answer
ype:
feq 53T A® (A® fEg vid 129 m ™) § 74.5 ppm WS T KCl T W &6 sfonr famr faret
YT 100 Q I (3 U 1 vifa3 o3 famr 9) 72 fer S 3 149 ppm @& KCl &5 3fanr Aier g 3t
Question: %ﬂ?qﬁﬁumni’r(5%2%&?@%%)%1@@82#9@?@@32—1—x><10‘3
G
XTHS T : (837 338 yIs nix 3 )
[ f&37 : H&®T 379 KCl T 74.5 H YT 15 T |
Topic: Chemistry-Section B
Item No: 82
Question
D: 100282
Question .
Type: Numeric Answer
U&S3HA mifes A+ ni3 fgezHa »ifes B~ € »idd fenid 102 »i3 181 pm gHR9 96 | frast nirfest
¢ fanest 33 J9a nifesa on safent Aier J| fer fgafes fSe B~ & werars 33 Ufdar m3 A+
Question: | HO® I6 AT nigeset fear fRg 75| fearst A® <f A9 <t St fgaes AB foo pm
af
(839 338 ugs nix 3 o)
Topic: Chemistry-Section B
Item No: 83
Question
D: 100283
Ques.tion Numeric Answer
Type:
ufe uie nifsfirssT feu fEdaes & 2 kms~1 7 fx foH 439 fardt St 2a, (e
Question: | a,= ¥J9 »igufen 52.9) & fex fedt i3 frret Saret
(Given : Mass of electron=9.1x10-31 kg, Planck’s constant h=6.63 X 1034 Js)
Topic: Chemistry-Section B
Item No: 84
Question 100284

ID:




Question .
Type: Numeric Answer
e 600 mL 0.2 M HNO, & 400 mL of 0.1 M, NaOH W& § eoAx g fisfont #ier 3 | 3t e%hHa
Question: | ¥ IUHIE x10~2°C 2u et J1 (sssdt fagiust =57 k] mol —1 w3 uat &
gfire 3u=42]JK 1 g7}
Topic: Chemistry-Section B
Item No: 85
Question
D 100285
Question .
Type: Numeric Answer
e O, dF § uet fEg 303 K §us gefonr Afer J1 O, © s oz 1 deg et
9 wae 5|
Question: Lo - . -
(B39 33 yIs vix 3 f&y)
(fdsT 3 : Iaat © foumimEs wid O, BEt 303 K=46.82 k bar »3 »iffig @amr O, =0.920 bar J)
Topic: Chemistry-Section B
Item No: 86
Question
D- 100286
1Q_ue§tion Numeric Answer
ype:
59 PbS WHEHIBST JEae® 8 x 102 T 31 PbS & 5o Uet &9 298 K 3 wosHIBST xx 10~ 0 mol L1
Question: |J | xTHE | (837 338 yds nia 39 )
[ fe3r: V2 = 1.41]
Topic: Chemistry-Section B
Item No: 87
Question ID: | 100287
Question

Type:

Numeric Answer




X3 Y &9 yISifaforr ufodt adt X Aau RenE A9 o Ye Asu fR9 T |
[X] [Y] Ag &t &9
of)| — — = -
L mol L1 mol L1 mol L' ! min™?
Question: I 0.1 0.1 2 %10 -3
II 1 0.2 4%10-3
111 0.4 0.4 mx 103
IV 0.1 0.2 2%1073
Il m»3 m o Bftmd HS & nigus 3 J1 (837 33 yIs vix 37 fu)
Topic: Chemistry-Section B
Item No: 88
Question
D: 100288
1Q_ue§tion Numeric Answer
ype:
Question: fea it 2o sty (niEd-wigar vifts wifas e gfenr ) o wdld wifEst & fasst o »isg
' ol
Topic: Chemistry-Section B
Item No: 89
Question
D: 100289
_?;pees:tion Numeric Answer
JuEts @ g9HieAs B9 1.0 aTH 59 § Yuels feg fuw8z 3 1,1,2,2-22sdHyus
(27% Teerg) yStfafanr <o x10~1 g 1,1, 2, 2- 2297 FOHYUS g J|
Question: Lo oL -
(837 338 ygs nig 3 f&y)
(&g 319 ; S9HIS = 80 aTH/ H)
Topic: Chemistry-Section B
Item No: 90
Question
D: 100290
Question

Type:

Numeric Answer




Question:

[Fe(CN) >~ & nif3fox nirafaes svdar I | 73 & Gamr § €8 o fqnfes 839 fregs Gamr fem
AHBSH Tt Bar A, I (839 338 yIs vid 3x fom)




